BEs \

HCHLES ETIX] =
& = 0 0

oIz o

L
[ of3ine

HEZ YA |2021. 5. 24.

€) 12:00

(
B QA | 2021. 5. 24.(2) 08:30 O EHE
E_EZ]-E_ FHRA | AL EAT w0l E Pt

[}

. O];:%]_

042-481-2583)

g9 52
" : 7 24 (042-481-3670)

A =

i o

2020
SAEEA AhHl 2= A

i
:;1

SAHo] AT A0 SR EAE BAEA 20 Gk o) § T 5
ePEN &A% 3 s =

N
232l SSAAE AR0IBHY AFHT




g d 5l

(] 2020 S4B AL, & 4, 94 R 955 AS571E
o2 2020. 1. 1. ~ 12. 317K ] 7h5AS 2 Askel] £

2. 2 WEe ZARE AR

§ 29 FPHES B K5 AKuE SolH oA HFol
=
=T

B AR FUE AFguge] FAY

[]
N
S
—_
o~
rL
o
v
off
-
R
=)
i
flo
D)
offl
N
R
o
off
-
R
utl
g
AC)
ol
ol
B
oo

[] 20183 XE] AlS FEHES
WA, SA) e B

O %8 A5E d9usie] WeYHAOBR G2 1 FAL
AT e ATE Jovl, @eld o Figel oE
S5 e



I\

/\gﬂ-u] }_/\]_(_9_94:)

R

re
N
)

A

[1 2020

[1 2020 @ ZAHEAJAH]| ZAL A3

1. S20FR] APAFH] coeeeieeiiiii s

5. vl A4k

6. Al AYAkH|

7. A A4

10

i

O ZAFEAYAFH] AL JI Q. eeerrereerrerenii

27






] 2008 =AHEAY
oA, A,

O WIUEIEIN), &

- 7]—%_]:]] S %—?—)/ /\]-
O FokA[(-0.3%), AT-0.7%) A4S 3, SA(-01%), PISE(-2.6%)=
7VEH] steto® A
- EH__ "lg %—O]-X])/ /‘l\_. L%(lﬂ %) }b}%/ 7]_%]:]] (Iorﬂ] H]%%) ‘6‘]-?{11_
< FS4HE A 8% >
T B ' ' o 9o
' 0 54 SUE%)
=34 A L] Bl | SO yogm) | MMl | oy | S | ody)
& olx| (Hd/ota|) 3,524 2,352 3,512 2,376 -12 23 -0.3 1.0
oHH| S (H/100ke) 1,132 988 1,195 1,049 63 61 55 6.2
| 9 (H#/100kg) 704 580 728 599 24 19 34 3.2
* 7 (H/2) 791 667 809 687 19 20 24 2.9
H| & (H#/100ks) 284 270 276 263 -/ -8 -2.6 -29
A 2k (™/107H) 956 912 949 908 -6 -4 -0.7 -0.5
S Al (/kg) 1,217 1,160 1,216 | 1,162 -1 2 -0.1 0.1
< H2 7AzE A Fo] >
) )
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20 398 $5o)e o] S994e, HISES 371 34 &

O

*

*

S, I, AR Ao TR 8 BT AR 2

SH-H A 9(70.8%), VISE(640.6%) > S4HE H71E dso 2 F7t
Zo}x| *._ |7b2{(M /5 6~770E of2l): (19) 3930 — (20) 4,295 (9.3%)
A X 7HE (M #/110kg): ((19) 324 — ('20) 353 (9.0%)

2 2 (1.5%) =
stgfo g Zha
2ol HAEIMA(R/kg): (19
%74| ALx|7F7*(°J/':' 2)): (

A =

ALEH] ol 71, SAI(-788%)= F4tE: Hujzt4

) 353 — ('20) 356 (0.8%)
19) 1,268 — (20) 1,121 (~11.6%)
%J%J*Uﬁﬂﬁ Hsog AN BAE
A %—"’r—t— 2—12}%5'_ 7t
Bepa B2AAM 2 2l Kok (19) 19.136 — (20) 21,241 (11.0%
2 2t 107h): (19) 974 — (20) 1,105 (13.4%)
1AM R Skgk (10) 10006 — (20) 10,727 (6:3%

N
Ll
o
~ \

7 2 19 20 A E] (= %2))
£354 E59l [ 2 5 [25oF | 539 | 2 & (230 | 24 | z4=
Al (M/of2))| 2,950 1,170 303 3,184 1,367 51 215 70.8
reH[|F (M/ol2))| 8,624 1,025 -76 9,387 1,190 58 134 176.0
= 2 (M|l 4517 299 -602 4,789 377 -574 28 4.7
A 2 (M/mR)] 10,419 3,844 2,701 | 10,657 3,811 2,661 =40 -1.5
H | = (Mg/ok2) 330 22 6 362 63 47 41 640.6
&b 28 A (/Bt2])| 26,155 -561 | -1,823 | 31,153 3,818 2,590 4,413 2421
= A (/o)) 2,046 267 180 2,002 125 38 -142 /8.8
Fx £ = &5 -gu] w239 = 59 - AIRH]

(T
3,000

1,500

(#)
12,000

6,000

-1,500

-6,000

20144 20154 20164 20174 20184 20194 2020

_2_




N GEAEERETCENETED A A

1 | SOLX| W&

] 208 Folx wigld AiH|= HA- AL o Fddy
19234 9 (-0.3%) T4

HA P HA S (%) : (119) 74.0 — (20) 74.8 (0.8%p)

>*

2459 gy &S AMSHIZE &F 71 0.8%) WY,
FolA| Auj7tA o] A st Adoiv] 219573 9(70.8%) F7F

1/ef 6~770E otz2l): (119) 3212 — (20) 3,435 (6.9%)
/5= 6~770 otz2f): (119) 3930 — (20) 4,295 (9.3%)

« BOFA| x| 71 (H

—

« BOFA| x| 7} (M

—

o

o

[E 1] $obx Aan 2 3§

rL
)
o
S
1o
oX,
£)
ich
oft

S Orx| A AtH| FPHA S S0
T = ETY | AFRH] [ oug &~ 5 | &Y
U8 e | T | e | EEY ) @d | o)
19 (A) 3524 | 2352 | 2950 | 2647 | 1,779 | 1,170 303
20 (B) 3512 | 2376 | 3184 | 2667 | 1817 | 1367 518
=gy | BA -12 23 235 20 38 197 215
- % -0.3 1.0 8.0 0.8 2.1 16.8 70.8
[Z" 1] FobA] Aake # FeH 45 =4 (e 3F)
(zg) LGHI(ED A AH(E ()
4,000 3,200
3,000 7 : : 2,400
2,000 @ 1,600
@ @ W S %
1,000 @o 9 [ 518 | 800
Y. 9 5 58 .
0 C2vio=] 0
(192
-1,000 m -800




2| SI2HIS|S Wil

1 208 F9HS5 AAR|(BA 100kg)= 7HEH], AHRH] o=
@] 693- Y (5.5%) 57}

« Z0FX| AbX| 7}

o

N

1™ /== 6~770€ ot2]): (119) 3,930 — (20) 4,295 (9.3%)
* 2 B[ ARIHE (Y - =9 - dUtAtE "o, A/kg): (19 392 — (20) 412 (5.2%)

J

[.JYJL_ 2] @'%H]%‘?" IOOkg%]‘ /‘g/}_]_-l:]]g]- 1:1].;;"1‘6]- _/_":c_;_}/‘é
(9): 7Y /100kg, HL/vra)

stou| s ML) seu| g2 +oA
T = E2¢l | ALSH| [olmm] | & § | =59
adEl | gy (a) B | () ' a-o | b
19 (A) 1132 988 | 8624 | 8700 | 7599 | 1025 | -76
20 (B) 1.195 1049 | 9387 | 9329 | 8196 | 1,190 58
. | BA 63 61 762 629 | 597 166 134
=" % 55 6.2 8.8 7.2 79 | 161 | 1760
(29 2] #901%% 100kgd A4 o} 27 594
(H) ZZH|(zh) AAH|(ZH (e
1,600
1,200
800
400
0 20194 0
(57 ) P27
-400 m -500




3 82 MAMH

1 20@ S5 A4 A 100kg)= 71358, ALRY] F5o 2 Zd ]
29+ 9 (3.4%) 7}

« K9 270 FSobX| AR ZHEA(H /atal): (19) 860 — (20) 911 (5.9%)
S AL=H[(M /4 A 100kg): (119 371 — (20) 380 (2.5%)

1 &% T €52 $F 7HF Aoz Ad 602 ddA
9 7AYo s AR Fr i
~ 55 I -H/AMS XISkg): (19) 10,096 — (20) 10,727 (6.3%)

[£ 3] &% 100kg@ A6} npalgd 594
(&%) A9 /100kg, HL/7te])

S5 Ao 5% 2o
2 _E_ X = 0| A|- o |:|| A= =20l
b ST e = ol HfH| = | &9
adEl | geu | T (b) (o) (a-c) | (a-b
19 (A) 704 580 | 4517 | 5119 | 4218 299 | -602
20 (B) 728 509 | 4789 | 5363 | 4412 377 | 574
. | BA 24 19 072 244 194 78 28
i % 3.4 32 6.0 48 46 6.2 47
(29 3] §% 100kg% Aaul o} vpa s 594
(M) ZEH|(Zh) AHAH (XD (M)
750 1,500
500 1,000
[ 536 >
250 @ ? 500
C:=)
0 0
-250 (310 ) 0
@ ap e
-500 m -1,000
(1,092

-750 -1,500




] 208 2% $§ Aabs Algn), 71242 Aoz Addg
4%) %

19%(2. 0% 7}
« Mo e ZAZRITIA(RAEA =7, |/kg): ((119) 353 — ('20) 356 (0.8%)
A A A HootA (™ A/oke]): ((119) 3,631 — (20) 3,802 (4.7%)

1 2& 77 &5 Aoy 4amd(15%) 24, ol ARHIZL
FFAEG 2AI(1.3%p) B 7)<

» STt ARrF I/ 2): (19) 1,081.3 — (20) 1,082.7 (0.1%)

[ 4] $6 £ BAus da AP $44

e/ e, /v

—

22 A M| e oy
. =2 = Aol Al 2| A = 2= 0]
A ST H = 2l HIH T T =
Sl Agel | V() (b) (c) ' a-d | b
19 (A) 791 667 10,419 7,718 6,574 3,844 2,701
'20 (B) 809 687 10,657 7,996 6,846 3,811 2,661
_— B-A 19 20 238 278 272 -34 =40
= % 24 29 23 36 4.1 -09 1.5
(29 4] $F 23 AMH 9 24 vigd 94
(%) ZgH|(zh) AAH| (2 ()
1,500 D 3,875 ]

1,200
o/o___o\e* —0—
aD
900

600

300 800
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0 HissE &4l

1 203 ¥SE AAi|AA 100kg)= 71=H] dlgte gz Addiv]) 73HY
(-2.6%) T4
« H 2= J-54| (/M A 100Kg): ('119) 69,543 — ('20) 58,510 (-15.9%)

 vsE Y &5de =X BrbE Aeo2 Addid] 47
(640.6%) =7}
« B K| AKX Z7HA (M @ /110kg): (119) 324 — ('20) 353 (9.0%)

[® 5] H]SE 100kgd AAH 9 v <A

(erel: 291 /100kg, A /vHe] )

H = M 4| HE= =94

T = E=249| | AFSH| A E | Ao
S T = - OEI I:II_|-|:| T N T

adul | Al | () (b) (0) ' Gd | @b
19 (A) 284 270 330 323 308 22 6
'20 (B) 276 263 362 315 299 63 47
_— B-A -/ -8 32 -8 -9 41 41
=" % -2.6 -2.9 9.9 -25 -2.8 190.8 640.6

(27 5] WIS E 100kgd A4S helw o1
(22 ZIHIE)  m AIE (2t

1,000 150

800

600

400

200

o EIEN R ErEE 0 EER 0 R ENEE EEER o
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At

AR AH|

O L

1208 AT 107018 A= ALk

] A+&A v
249 25909 &=}

Fe=

» A2t Zof 7t (|/52E 1070): (19) 974 — (20) 1,105 (13.4%)

[£ 6] AT 1070F v o AAdA vied

PN
T

4

AAhH] 69(-0.7%)

(9 /1070, 9 /7kE])

A2 A AbH| At2tA =N
T _E_ = A0l Al'otll A = Z> 2~ ol
Al ST H = ojgfn| | & 5§ | =79
adEl | geu | T (b) (o) (a-c) | (a-b
19 (A) 956 912 26,155 27,978 26,716 -561 -1,823
'20 (B) 949 908 31,153 28,563 27,335 3,818 2,590
- B-A -6 -4 4,998 585 619 4379 4413
=" % 07 05 19.1 2.1 23 | 7807 | 2421
[ZF 6] A 1071 ABAH ¢} A&A vlgld 94
() ZGH|(xh AAH| (2 (&)
1,500 m 15,000
1,000 . 10,000
500 5,000
(4,147 (esoi®)
[2.363] 1,815 i
0 2016 2018 0
<D (1,823
-500 -5,000




7| |H 44l

1208 SA kgd A= 7151] StgteE Adiv] 19(-0.1%) 74

~ & ASA(Hota]) MXI7HA(#E/or2]): (119) 460 — (20) 340 (-26.1%)

87 melg &50e Bujrld setos Addiy 1429(78.8%)
d

« KA X T7EE(A/otE]): ((19) 1,268 — (20) 1,121 (-11.6%)

(£ 7] %7 kg Ao} ool 4914
(9 9 /kg, /7))

SA 4| S oA
TOT | wu g | F5E | M3 g TS
19 (A) 1,217 1,160 2,046 1,866 1,779 267 180
'20 (B) 1,216 1,162 2,002 1,964 1,877 125 38
=7 B-A -1 2 -44 98 98 -142 -142
% -0.1 0.1 2.2 52 9.5 -53.2 -78.8

[Z" 7] A kg BAH¢ vt 3 YA

()
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1,200

800

400

0 0
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1. -4
Q FotA A4 (utg]d)
(91 A2, %, %p)

= = | 9 [T e s
(a) o| o 10~29 30~49 o| AF (b) T-AH| (b/a)
o A 2 | 1,621 1,528 1,553 1,582 1,671 1,635 46.1 0.9
- STAR 986 999 1,031 1,019 1,041 1,034 29.2 49
-2 AMNE 594 501 484 531 589 562 15.8 -54
- TMRALZR 41 28 39 32 41 39 1.1 -55
o T Y| 61 77 72 61 56 60 1.7 -15
o WX =H| 49 78 60 51 47 51 1.4 2.8
0 AtZXtH| 51 101 75 59 42 52 1.5 1.8
o & T H| 201 295 222 245 198 213 6.0 5.8
o LzAlMH| 154 269 225 176 120 150 4.2 24
o 7|Exf ZH]| 66 75 75 75 57 63 1.8 -3.8
o & = 55 66 61 58 57 58 1.6 5.0
o Xt =0 X} 39 23 27 46 30 32 0.9 -18.1
o EX|XZE 9 13 8 9 4 6 0.2 -38.3
o I1ZT-=H| 25 20 19 12 40 32 0.9 26.1
o E=xzy| 10 8 1 12 7 8 0.2 -16.5
o Mikate|d| 20 30 25 24 16 19 0.5 -4.6
o 7|EHH|E 32 42 38 41 31 34 1.0 6.3
2~ A (A 2,392 2,625 2,471 2,450 2,375 2,411 68.0 0.8
A7t SH| 956 2,732 1,506 1,053 646 923 26.0 -3.5
At & | 175 203 201 176 171 178 5.0 1.5
EX|&H| 40 48 39 36 35 36 1.0 -10.6
g A B 3,564 5,608 4217 3,715 3,228 3,547 100.0 -0.5
FLETR0 40 65 33 44 32 36 - -11.0
Z2ZGH|(A-0) 2,352 2,560 2,438 2,405 2,343 2,376 - 1.0
MeslB-0) | a3se4 | 558 | 4183 | 3670 | 31% | 3512 | - | -03
HAZ(%) 74.0 75.0 76.1 73.7 74.7 74.8 - 0.8
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O FPNAS 59

d (7HE9)

O B4WAS ALl (v
(91 A, %)

, ALS 7 2 8(20) -
S X 100t2] soof2l [ ® & sas
(@ ajgr | 10~29 | 30~49 | C Ly o | TEE | (ba)

oAb = o8 | 1207 1,159 1,199 1,193 1,259 1236 | 464 | 24
- sFAIR 734 749 784 751 778 774 | 290 | 54
- = AR 442 389 385 419 450 434 | 163 | -19
- TMRALZ 3t 21 29 23 3t 29 | 1.1 | -53
o S| 45 57 54 45 42 45 | 17 | -08
o ot | 37 59 46 37 35 B8 | 14 | 37
o A& xfu| 38 76 57 44 3t 39 | 15 | 32
o & 7 | 149 221 169 180 148 159 | 60 | 64
L 14 202 171 130 90 12 | 42 | -13
o 7|etx 28l 49 56 57 55 43 47 | 18 | 31
°cz 8RR 41 50 47 43 43 44 | 16 | 57
o AtelFolx} 29 17 20 34 23 24 | 09 | -18.
o EXeXE 7 9 6 6 3 4 | 02 | -334
o N 19 5 14 8 30 24 | 09 | 258
o 2rxaly| 7 6 8 9 5 6 | 02 |-158
o Mthzall 15 23 19 18 12 14 | 05 | 32
o 7|Efu| 24 31 29 30 23 25 | 10 | 70
= A 1,779 1,981 1,897 1,832 1,785 1817 | es1 | 21
Rt} S| 708 | 2,049 1,145 776 483 690 | 259 | -25
Rtz gotu| 130 152 153 129 128 133 | 50 | 25
EX 8] 30 36 30 27 26 27 | 10 | -100
& 7 2647 | 4219 | 3224 | 2764 | 2422 | 2667 | 1000 | 08

F) A g ARSHIE Jelid(201.1.~1231) 7IEE FAE RlERkE A

(91 A, %)
AL B H(20)

5 = '(19 100t2] s00t2| BE |

a) g} 10~29 30~49 ol A} o) (b/a)

o & % ¢ (A 2,950 3,415 3,349 3,207 3,124 3,184 8.0
- FaEsel 2,874 3,327 3,267 3,131 3,053 3,107 8.1
Sofx| ol 2,440 2,649 2,666 2,623 2613 2623 75
| 2 Ehoj 434 677 601 508 440 484 114

- Baza 30 48 25 33 24 27 | -10.1
- 7|t ¢ 46 40 57 63 47 51 9.3
o uk|(B) 1,779 1,981 1,897 1,832 1785 1817 2.1
o AbSH|(C) 2,647 4219 3,204 2764 2422 2,667 0.8
o & = (AB 1,170 1,434 1,452 1,395 1,339 1,367 16.8
o & % o (AC) 303 -804 125 463 702 518 70.8
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o
T

O &Hl-&% A4 (A 100kg?)
(9 A9, %)
AL T2 E(20)
T = ’(g 200k2] | 0 4o | sp_gg | 100RERI | E @ | g(bjc' ;)%
ojgt of & (b) =
o7t & 467 481 511 512 526 514 | 429 | 10.1
o AL B H| 406 415 429 438 406 420 | 351 35
- ERAE 241 272 275 250 216 243 | 203 1.2
- X AR 67 73 82 61 64 68 5.7 16
- TMRALE 98 71 72 127 126 109 9.1 | 106
o S| 10 16 10 10 8 10 08 | -08
o goix| =y 7 9 5 5 5 6 05 | -16.0
o XS x| 6 13 10 7 4 7 06 | 152
o &5 T 4| 30 52 39 28 24 31 26 4.7
o A=Ay 26 40 26 24 18 24 20 | -72
o 7|Etx| 2| 13 20 13 14 14 15 12 | 112
o xreZol X} 10 4 8 8 8 8 06 | 213
o EXxtz 0 1 0 0 0 0 00 | 446
o NE8rEH| 8 2 2 4 15 8 0.7 37
o Baxzlyl 2 2 3 2 1 2 02 | 157
o Mitzta|yl 4 5 6 5 5 5 04 | 147
o 7|EtH| 8 4 8 5 3 2 4 03 | -64
2 A A 991 1,071 1,067 1,060 1,036 1,053 | 879 6.2
X7t SH| 115 273 183 106 44 115 9.6 0.0
A2 g oh| 24 30 27 27 24 26 22 6.7
LRNE=L] 4 5 6 5 3 5 0.4 6.0
g A B/ 1,135 1,378 1,283 1,199 1,107 1,198 | 1000 5.6
= ARES00) 3 5 5 3 3 3 - 12.8
Z™H|(A-C) 988 1,065 1,062 1,058 1,033 1,049 - 6.2
A4 2H|(B-C) 1,132 1,373 1,278 1,196 1,105 1,195 - 55
2ol Al H| F(kg) 767 778 747 773 799 779 - 16
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O #HISS AgH (vhel)

(F%1: 44, %)
Al & 7 2 (20 )

2 = 19 T o00r jootal | ® =2 sds
(a) |t 20~49 | 50~99 ol A} ) FAH| | (o/a)
o 7t = d 3,579 3,740 3,819 3,959 4,202 4003 | 429 11.8
o Ab B2 b 3,111 3,231 3,204 3,387 3,247 3,271 35.1 5.2
- ZSAlE 1,845 2,113 2,055 1,936 1,726 1895 | 203 28
- X AR 513 564 614 468 514 530 5.7 32
- TMRALZ 753 553 535 983 1,008 846 9.1 12.4
o I A 76 126 73 76 67 77 08 07
o x| BH| 51 70 38 40 41 43 05 | -147
o AE x| 45 104 76 51 29 53 0.6 17.0
o &= T H 230 405 293 217 190 244 26 6.3
o HsAlMH]| 197 315 194 189 144 186 20 | -57
o 7|EIx| 24| 100 154 98 111 111 113 1.2 12.9
o xtelZolxt 74 35 57 61 65 59 06 | —20.1
o EXXtZ 2 7 3 3 1 3 00 | 464
o N EH| 60 17 12 31 122 63 0.7 5.4
o Bx ey 12 15 25 14 8 14 0.2 17.5
o AYARER[H]| 33 42 42 36 38 39 0.4 16.5
o 7|EHH|Z 30 65 40 22 16 28 03 | -50
A~ A 7,599 8,325 7,975 8,197 8,281 8196 | 879 79
Xp7b e S| 881 2,121 1,368 820 351 895 96 16
Kt god| 187 231 199 209 195 203 22 8.4
EX| 8oy 33 37 45 41 26 35 0.4 77
3t A 8,700 10,714 9,587 9,267 8,852 9,329 | 100.0 7.2

O LUK FAA (e
(T 19, %)
(=) 4 r

T = i 200tz2] — T = 2012)0n+a| T ik
(a) ol a 20~49 50~99 ol Al o) (b/a)
o & £ ¢ (A 8,624 9,038 8,959 9,347 9,738 9,387 8.8
- 3t Tl 8,553 8,936 8,803 9,279 9,704 9,310 8.9
- BARE 40l 24 39 41 20 21 27 14.6
- 7|Et ¢ 48 63 115 47 13 50 32
o 2uH|(B) 7,599 8,325 7,975 8,197 8,281 8,196 79
o AFSH|(C) 8,700 10,714 9,587 9,267 8,852 9,329 7.2
o & £ (A-B 1,025 713 984 1,150 1,457 1,190 16.1
o & % 2 (AC) 76 -1,676 -628 80 886 58 | 176.0
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O &% A4 (AA 100kg3)

(91 A, %)

AL T2 E(20)
T = ’(g 200k2] | 0 4o | sp_gg | 100RERI | E @ | g(bjc' ;)%
oj gt of &t (b) -
o7t & 103 104 101 114 123 115 | 158 | 121
o Ab B | 371 416 3% 379 364 380 | 521 2.6
- EFAE 296 309 310 302 301 304 | 416 2.6
- = AR 51 72 63 56 36 49 68 | -3
- TMRALZ 24 35 23 22 27 27 37 | 149
o | 12 16 13 12 9 11 15 | -52
o welx 2| 6 9 7 5 6 6 09 | 133
o AbESAH| 6 14 8 6 3 6 0.8 58
o & T 25 42 32 27 15 24 33 | -15
o isAlMy]| 20 33 26 25 13 20 2.8 1.6
o 7IEtA 28| 11 12 1 10 9 10 14 | -95
o xtlZolxt 9 10 9 9 7 8 .1 | -98
o EXYUXE 1 2 1 0 0 1 0.1 4.2
o Ng=-EH| 13 4 5 17 13 11 15 | 202
o Hizxaly| 2 4 2 1 2 2 03 | 27
o Matzals 3 5 4 4 2 3 05 | -40
o 7|Et8| B 2 5 3 3 1 2 03 | -30
= N 582 675 618 613 566 600 | 823 3.1
INFIE=E] 108 287 152 87 47 112 | 154 36
A2 g o] 15 22 17 13 14 16 2.1 6.6
EX| B4 1 2 2 1 1 2 02 | 140
g A @ 706 986 789 714 628 729 | 100.0 3.3
S A242)(C) 2 2 1 2 1 1 - | 817
Z8|(A-C) 580 673 616 611 565 599 - 32
44| (B-C) 704 984 787 713 627 728 - 3.4
ol Al H B (kg) 618 658 675 637 606 630 - 1.4
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O %% A%l (vl

(F%1: 44, %)
AL 2 H(20)

+ = 19 200tz 1008tz g7 S
(a) ol 8 20~49 50~99 S (b)“ FMu| | (b/a)
o 7t & di 746 758 759 852 902 849 15.8 137
o Ab 2 H| 2,686 3,032 2,973 2,823 2,659 2,795 | 52.1 4.1
- B3R 2,146 2,250 2,328 2,246 2,198 2233 | 416 4.0
-E= AR 369 524 472 414 265 363 68 | -17
- TMRALZ 171 258 172 162 196 200 37 165
o FEadu] 86 114 100 88 65 82 15 | -39
o Hhoix| ZH| 41 68 50 38 41 47 0.9 15.0
o RS RHH| 40 104 56 42 19 43 0.8 7.3
o & T 178 303 244 202 110 178 33 | -0.1
o0 YPiA|Ay| 144 243 195 188 92 148 28 3.1
o 7|EtM 2H| 79 88 80 77 64 72 14 | -82
o Xl F 0| X} 63 71 65 68 48 58 1.1 -8.6
o EX|YitE 4 13 8 3 0 4 0.1 56
o N8 =H| % 26 35 125 95 78 15 | -19.1
o Eizxaly| 13 28 17 9 15 17 03 | 289
o M Azl 25 36 33 28 18 25 05 | -26
o 7|Ete| & 17 35 22 19 8 16 03 | -16
A~ A 4218 4,921 4,636 4,561 4,136 4412 | 823 46
Ap7} e S| 784 2,093 1,138 650 346 824 15.4 5.1
At 2| 106 160 129 97 100 115 2.1 8.1
EX|2%9H| 10 17 17 11 9 12 0.2 15.6
3t A 5,119 7,191 5,921 5,319 4,591 5363 | 100.0 48

O &% F4 (1)
(&1 219, %)
AL 2 B

a = 19 200}2] A 201())0|:||-E| o 4=
(a) a| 8 20~ 49 50~99 o[ AL °(b) (b/a)
o & £ ¢ (A 4517 4,631 4,821 4,987 4,783 4,789 6.0
- 8% moj 4,485 4,590 4,783 4,909 4,763 4,754 6.0
- BaEsel 14 14 11 13 6 9 | -307
- 7|t ¢ 18 26 27 66 14 25 36.6
o utu|(B 4218 4,921 4,636 4,561 4,136 4,412 46
o AM2H|(C) 5,119 7,191 5,921 5,319 4,591 5,363 4.8
o & 5 (A-B 299 -290 184 426 648 377 26.2
o &= £ 2 (A-C) -602 2,560 -1,100 -332 192 -574 47
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4., A A

O $-fr A4HH] (1002 )

(291 €, %)

Ab S 7 2 H(20)

T = ,(g S0%E | so_gg | 70~go | 100 | B E oy %(bym f
o| gk 0| & (b) -

o Ab B b | 45066 | 46176 | 46908 | 47543 | 46406 | 46733 | 549 | 37
- =sA= | 18478 | 15308 | 16950 | 18,113 | 19232 | 18202 | 214 | -15
-z A= | 12775 | 9396 | 11813 | 11382 | 15045 | 13511 | 159 | 58
- TMRAtE | 13813 | 21472 | 18136 | 18048 | 11209 | 15020 | 176 | 87

o sgzen | 1517 | 1736 | 1492 | 1568 | 150 | 1552 | 18 | 23

o weixizul | 2124 | 1928 | 2303 | 2041 2195 | 2143 | 25| 09

o XbE x| 435 697 558 456 387 463 | 05| 64

o & 7 ul 3837 | 5137 | 4550 | 4186 | 3512 | 4004 | 47 | 44

o dmAME | 2248 | 2700 | 2075 | 2170 | 2003 | 2132 | 25 | -52

o Jletm=sl | 1203 | 1897 | 1,110 | 1,150 | 1,003 | 1098 | 13 | -87

o E R R 821 730 850 756 928 853 | 10 | 39

o xtelZolxF | 1324 | 1783 | 1,128 871 1235 | 1,190 | 14 | -10.1

o ExlelxE 9 79 139 99 107 106 | 0.1 | 17.8

o ngwsH | 2240 766 | 1,169 | 1915 | 3318 | 2387 | 28 | 66

o B2l 306 275 316 311 494 39 | 05 | 304

o M pbpia|y| 784 814 762 859 632 727 | 09 | -73

o stmaztul | 674 | 9173 | 8862 | 878t 8654 | 8773 | 103 | 1.1

o 7|EtE| 8 262 315 659 402 214 34 | 04| 275

& H W | 70931 | 73706 | 72881 | 73108 | 72608 | 72894 | 856 | 28
Robesn | 10969 | 23975 | 13320 | 11660 | 6818 | 10827 | 127 | -13
xp 2 g of | 1119 | 1,191 1010 | 1283 | 1169 | 1181 | 14 | 55
£ x| gofs| 247 276 193 274 216 233 | 03| -57
& A ® | 83266 | 99,148 | 87404 | 86325 | 80811 | 85135 | 1000 | 22
saesol0) | 4206 | 4368 | 4231 4498 | 4023 | 4208 | - 00
Houl(AC) | 66725 | 69338 | 68650 | 68610 | 68585 | 68686 | - 29
MamiB-C) | 79060 | 94780 | 83173 | 81827 | 76788 | 80927 | - 24
ofelgaigake) | 9260 | 8983 | 9208 | 9383 | 952 | 93 | - 13
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O Az AbSH] (U R)

(29 A, %)
, Ab S T = H(20)
2 = 19 5012 o002l | ® = St=
(a) ol 8 50~ 69 70~99 o o) F48| | (b/a)
o Ab 2 d] 4,177 4,148 4,362 4,461 4,419 4,389 54.9 5.1
- ZSALR 1,713 1,375 1577 1,700 1,831 1,710 214 -0.2
N - 1,184 844 1,098 1,068 1,518 1,269 15.9 7.2
- TMRALZ 1,280 1,929 1,686 1,694 1,069 1,411 17.6 10.2
o FEadu| 141 156 139 147 145 146 18 37
o drodx| ZH 197 173 214 192 209 201 25 2.2
o RHZXtd| 40 63 52 43 37 43 0.5 77
o & F 356 462 423 393 334 376 47 5.7
0 YAl Al 208 243 193 204 191 200 25 -39
o 7|Efx{ 2H] 112 126 103 108 95 103 1.3 -75
o E R 2 76 66 79 71 88 80 1.0 5.2
o xbelZo| X} 123 160 105 82 118 112 14 -89
o EX|AXE 8 7 13 9 10 10 0.1 19.4
o NET-EH| 208 69 109 180 316 224 28 8.0
o E=xaly| 28 25 29 29 47 38 0.5 32.1
o A AbzbE|dl 73 73 71 81 60 68 0.9 -6.1
o 7tEAFZtH| 804 824 824 824 824 824 10.3 25
o 7|EfH|8 24 28 61 38 20 31 0.4 29.4
~ A 6,574 6,621 6,777 6,860 6,913 6,846 | 856 4.1
A7t S| 1,017 2,154 1,239 1,094 649 1,017 12.7 0.0
A2 24| 104 107 94 120 111 111 14 6.9
EX| 24| 23 25 18 26 21 22 0.3 4.1
g A 7,718 8,906 8,127 8,100 7,694 7,996 | 100.0 36
F) A " ARSHIE 2ed(201.1.~12.31) 7IEE By ¥Rk S
Q AL YA (vlElv)
(29 A, %)
Al £ 8 o
- = 19 50042 Sl ( Zoulonral g7 SHE
(a) o) o 50~ 69 70~99 oAb o) (b/a)
o & £ ¢ (A 10,419 10,076 10,553 10,657 10,824 10,657 2.3
- 25 moj 9,871 9,481 9,902 10,042 10,292 10,080 2.1
- BaEsel 390 392 393 422 383 395 14
% ofx| ol 371 359 379 404 366 376 1.3
Fd| moj 18 33 15 18 17 19 2.1
- 7|Et ¢ 157 202 257 194 149 182 155
o 2luhH|(B) 6,574 6,621 6,777 6,860 6,913 6,846 4.1
o AFZH|[(C) 7,718 8,906 8,127 8,100 7,694 7,996 36
o & £ (A-B 3,844 3,455 3,776 3,797 3911 3,811 -0.9
o &= % 2 (A-C) 2,701 1,170 2,426 2,557 3,130 2,661 -15
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5. H| &&=

O H|S&= A4k (A 100kgD)

(%l 9, %)

Ab S T 2 8(20)
= "19 =7
T2 =2 () 1,000 1,000~ 2,000~ 3,000 o g

of2|o| gt 1,999 2,999 of2|o| A (b) <

o 7t & 4] 69,543 89,445 72,650 57,018 48,931 58,510 212 | -159

o AL B H] 147,384 155,074 151,649 153,273 149,603 151,164 54.7 2.6

o T &YH| 4,029 3,716 4,568 4292 4,070 4,180 1.5 3.7
o Holx|=H| 9,323 7,765 8,299 8,816 9,436 8,956 3.2 -3.9
o AtS | 1,029 2,229 1,244 1,129 829 1,085 0.4 54
o & T Hl 5,989 8,352 7,891 5912 4,923 5,979 22 -0.2
o FEAlMH| 6,460 7,712 6,521 7,135 5,395 6,142 2.2 -4.9
o Z|EtM =H| 1,538 1,648 1,483 1,357 1,267 1,358 05 | -11.7
o Xt FOlA} 2,861 2,678 2,095 2,643 2,498 2,462 09 | -139
o EXYAR 37 98 22 52 12 29 00 | 216
o 1gLZH| 11,503 5,430 10,447 10,423 13,297 11,533 42 0.3
o E=Hald| 7,892 10,463 9,323 9,110 7,135 8,218 3.0 4.1
o ditgka|d| 1,443 1,748 1,988 1,513 1,380 1,555 0.6 7.8
o Z|EtH|E 1,284 1,234 1,504 1,351 1,398 1,397 0.5 8.8

2~ AN 270,315 297,592 279,684 264,024 250,174 262,568 95.0 -2.9

A7t S| 7,765 27,361 13,037 7,729 3,772 8,403 3.0 8.2
Atz E A H| 4,336 4,378 4,409 4,259 3,868 4,091 1.5 -5.7
EX|E9H| 1,264 2,029 1,506 1,344 1,181 1,347 0.5 6.6

g A B 283,680 331,360 298,636 277,356 258,995 276,409 100.0 -2.6

FLETRUO) 18 97 2 19 50 39 - 116.7
4 dH|(A-C) 270,297 297,495 279,682 264,005 250,124 262,529 - -29
A 4] (B-C) 283,662 331,263 298,634 277,337 258,945 276,370 - -2.6
T Al S(ka) 114 114 114 114 114 114 - 0.0
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O MEE AgHl ()

(9l 9, %)

A ® 72 20)

T = 19 1,000 1,000~ 2,000~ 3,000 o 7 S
@ oizoier | 190 | 2009 | olziolar | @ | rEE| 0@
o 7} & H 79,237 102,245 82,792 64,892 55,781 66,696 21.2 -15.8
o A B H| 167,929 177,265 172,819 174,440 170,547 172,312 547 2.6
o FEZZhAH| 4,591 4248 5,206 4,885 4,640 4765 1.5 3.8
o Yt X|ZH| 10,623 8,876 9,457 10,034 10,757 10,209 3.2 -3.9
o AbSXHH| 1,172 2,548 1,418 1,284 945 1,237 0.4 55
o & T | 6,824 9,548 8,994 6,727 5612 6,816 2.2 -0.1
o HsA|AMH| 7,361 8,816 7,432 8,121 6,150 7,000 2.2 -4.9
o J|Etx| ZH| 1,752 1,884 1,690 1,544 1,444 1,548 0.5 -11.6
o At ZO[X} 3,260 3,061 2,388 3,008 2,848 2,806 09 -13.9
o EX|Xt= 42 112 25 59 14 33 0.0 -21.4
o IS ZH| 13,107 6,207 11,905 11,862 15,159 13,147 42 0.3
o Exxeld| 8,992 11,960 10,624 10,368 8,134 9,368 3.0 42
o Ay AbEbE|H| 1,644 1,998 2,266 1,722 1,573 1,773 0.6 7.8
o J|EtH|E 1,463 1,411 1,714 1,538 1,594 1,592 0.5 8.8
A 307,997 340,179 318,730 300,484 285,198 299,302 95.0 -2.8
A7t SH| 8,847 31,277 14,856 8,797 4,301 9,579 3.0 8.3
A2 H| 4,941 5,004 5,025 4 847 4410 4,664 1.5 -5.6
EX[&H]| 1,440 2,319 1,716 1,530 1,346 1,535 0.5 6.6
g Al 323,225 378,779 340,327 315,658 295,254 315,079 100.0 -2.5

O HlS= 94 (v 3)
(9l 9, %)

Ab € 7 2 H(20)
o 19 =2z
T = @ 1,000 1,000~ | 2,000~ 3,000 g 7 (o/a)
ol2jojgt | 1999 2999 | of2lola (b)

o & % e (A | 320564 | 364309 | 366965 | 363594 | 350215 | 362,028 9.9
- ol S EEhoy 327,632 | 362118 | 356,120 | 362,125 | 357,312 | 358432 9.4
- RaEge 20 11 2 22 57 44 | 1200
- 71t ¢l 1,912 2,080 10,843 1,447 1,846 3552 | 858
o 2lgtul(B) 307,997 | 340,179 | 318730 | 300484 | 285198 | 299302 | -28
o ARRH|(C) 323225 | 378779 | 340327 | 315658 | 205254 | 315079 | -25
o & S (AB) | 21567 24130 | 48235 63,110 74,017 62,726 | 190.8
o & £ o (AC) 6339 | -14470 | 26,638 47,936 63,961 46949 | 640.6
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O A= A4k (10071 3)
(91 €, %)
Al & 7 2 H('20)
= o= "9 - ZUE
= (@) 20,000 | 20,000~ | 40,000~ | 80,000 27| S| (ba)
ofz|of ot 39,999 79,999 otz| o] A (b)

o 7l & H| 1,673 2,347 2,084 2,133 1,631 1,772 18.4 59
o A B H| 5,542 6,150 5,730 5,583 5,427 5,521 574 -04
o F=EZZH| 161 187 173 179 155 162 1.7 0.6
o X ZH| 101 133 115 102 103 105 1.1 40
o Al AHy| 37 105 56 59 40 47 05 27.0
o 5 T H 565 948 608 566 427 482 50 | -147
o PzAldd| 134 453 248 156 99 132 14 -15
o 7|EtM ZH| 355 428 419 342 316 332 35 -6.5
o Xt =0 Xt 97 237 143 151 78 100 1.0 3.1
o EXAt= 2 20 4 3 0 2 0.0 0.0
o 1NZr-SH| 431 666 505 423 413 432 45 0.2
o BE=zXzld] 55 215 70 65 47 58 0.6 55
o AfAbEE|H| 29 80 95 40 23 33 0.3 13.8
o 7|ElH|E 36 43 40 37 32 34 04 -5.6
2~ A (A 9,218 12,012 10,290 9,839 8,791 9,212 957 -0.1
A7t SH| 321 1,705 753 402 179 312 3.2 -2.8
A2 E | 63 103 82 49 55 58 0.6 -79
EX|E9d| 51 140 92 43 34 44 05 -13.7
g A B 9,653 13,960 11,217 10,333 9,059 9,626 100.0 -0.3
SAETRI0 95 203 137 150 124 132 - 38.9
AYH|(A-C) 9,123 11,809 10,153 9,689 8,667 9,080 - -0.5
M 4HH((B-C) 9,558 13,757 11,080 10,183 8,935 9,494 - -0.7
Az AZEOH) 290 285 285 300 300 297 - 24
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O A+&A

gl (1) R

(91 9, %)
A T 2 (20 )
- = ’(:)9 20,000 20,000~ | 40,000~ 80,000 o —LAdH| %(b?:. ;)%
otz|of gk 39,999 79,999 otz|o| A (b) <
o 7t & H| 4,848 6,693 5,928 6,391 4,887 5,258 18.4 8.5
o Al = H 16,063 17,538 16,302 16,731 16,258 16,385 574 2.0
o T a&d| 468 533 493 535 465 480 1.7 2.6
o AR ZH| 293 379 328 307 309 313 1.1 6.9
o AtZ K| 105 302 160 176 119 138 0.5 30.7
o & T H| 1,638 2,704 1,728 1,699 1,279 1,431 50 | -12.7
o AasAldH| 390 1,291 704 467 296 390 14 0.0
o Z|E}Xf ZH| 1,030 1,220 1,191 1,026 947 987 35 -4.2
o At ZO[X} 280 675 408 454 234 297 1.0 6.0
o EX|R= 5 58 1 8 1 5 0.0 -9.2
o 13| 1,248 1,900 1,437 1,269 1,236 1,282 45 2.7
o F=Xezld| 160 613 198 195 139 171 0.6 6.6
o ‘dikatz|d] 85 229 270 120 69 97 0.3 13.7
o 7|EHH|E 103 122 115 111 96 101 04 -24
2~ A 26,716 34,257 29,273 29,489 26,335 27,335 95.7 2.3
A7t e SH| 932 4,862 2,142 1,206 538 925 3.2 -0.8
A2 -gdd| 182 293 233 148 166 173 0.6 -4.6
EX|&YH| 149 398 263 130 103 130 05 | -129
2 A 27,978 39,810 31,911 30,973 27,141 28,563 100.0 2.1
O A&A 94 (vlg%)
(91 €, %)
_ e Ab S 7 = #('20) =2z
T c= (@) 20,000 20,000~ 40,000~ 80,000 o (b/a)
ofz|of gt 39,999 79,999 ofz|of At (b)
o & 7+ ¢ (A 26,155 33,778 32,098 31,453 30,861 31,153 19.1
- A 2t oy 25,794 33,079 31,684 30,903 30,398 30,670 18.9
- BiETY 275 578 388 450 371 393 42.9
- 7 d| Ehof 35 100 49 53 26 35 0.0
H| & A2ty 129 21 140 179 201 194 50.4
Lo m| 7| oy 111 267 199 218 144 164 477
- 7Bl 86 121 26 100 92 90 47
o ¢ Hhd|(B) 26,716 34,257 29,273 29,489 26,335 27,335 2.3
o ASFH|(C) 27,978 39,810 31,911 30,973 27,141 28,563 2.1
o & = (A-B) -561 -479 2,825 1,964 4,526 3,818 780.7
o = 7 <9 (A0 -1,823 -6,032 187 480 3,720 2,590 2421

_22_



7. SA

O sS4 A4 (10kgT)

(91 €, %)
AP 2 H(20)

. . 19 - szs

@ 30,000 | 30,000~ | 50000~ | 70000 | B # | L. | (a
otz|of gk 49,999 69,999 otz|o| Ak (b)

7l & | 2,848 2,233 2,621 2,582 2,743 2,653 21.8 -6.8
AL =2 | 6,747 7,023 7,064 6,730 6,910 6,906 56.8 24
T Y| 433 385 436 431 354 390 3.2 -99
g2rod x| 2 H| 276 287 314 293 249 274 2.3 -0.7
ApS Rtd| 46 72 42 53 25 37 03 | -196
= T H] 322 406 329 385 276 318 2.6 -1.2
Al | 328 494 426 352 391 394 3.2 20.1
7| EfXf 2 H| 169 175 206 204 167 184 1.5 8.9
A+l Z ol A} 135 54 102 100 148 123 1.0 -8.9
EX|URZ 13 33 13 14 5 10 0.1 -23.1
1S SH| 136 110 143 120 176 153 1.3 12.5
==X el 67 87 49 83 95 82 0.7 224
A Abpte| | 31 31 23 47 17 26 02 | -16.1
7| EHH| & 57 43 67 88 71 72 0.6 26.3
2~ A (A 11,608 11,433 11,835 11,482 11,627 11,622 95.6 0.1
A7t e SH| 528 1,069 685 594 310 496 41 -6.1
A2 S| 35 32 37 37 37 37 0.3 5.7
EX| 84| 6 6 6 6 5 5 00 | -16.7
g A B 12,177 12,540 12,563 12,119 11,979 12,160 100.0 -0.1
FLERI0) 5 6 1 2 2 2 - -59.3
ZHH|(A-0) 11,603 11,427 11,834 11,480 11,625 11,620 - 0.1
M AH|(B-C) 12,172 12,534 12,562 12,117 11,977 12,158 - -0.1
EHH Al X E(kg) 1.53 1.70 1.57 1.58 1.64 1.61 - 5.2
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O §A ArsH] (107 3)

(91 <, %)
AL S 7 2 #(20)
T = 19 30,000 30,000~ | 50,000~ 70,000 o SeE
(a) ’ : ’ / S = FAH| | (b/a)
otz|ajgt 49,999 69,999 otz|of & (b)
o Jt &= Hd| 4,365 3,796 4,115 4,080 4,499 4,284 21.8 -1.8
o Al 2 | 10,340 11,940 11,091 10,634 11,332 11,152 56.8 7.9
o FEaAH| 663 655 684 682 581 630 3.2 -5.0
o YA X =H| 423 488 493 463 408 443 2.3 47
o AhS K| 71 122 65 84 42 62 03 | —12.7
o & T H 492 690 518 610 451 514 2.6 45
o PsAlMH| 503 840 667 555 640 636 3.2 26.4
o 7|Etxf ZH| 259 297 323 323 273 296 15 14.3
o At ZO[X} 207 92 160 158 243 198 1.0 -4.3
o EX|URIZ 20 56 20 22 7 16 0.1 -20.0
o I1ZTaH| 209 186 225 189 288 246 1.3 17.7
o E=X2lH| 102 148 77 131 155 133 0.7 304
o Makpte|d] 48 53 36 75 28 42 02 | 125
o 7|EHH|E 87 73 104 139 116 117 0.6 34.5
2~ A 17,789 19,436 18,578 18,145 19,063 18,769 95.6 55
A7t SH| 809 1,818 1,075 938 508 801 4.1 -1.0
A2Z9| 54 54 58 59 61 60 0.3 10.2
EX| 84| 9 10 9 9 8 8 00 | -11.1
g A 18,662 21,319 19,720 19,151 19,640 19,639 100.0 52
O A 4 @ovtE )

(91 9, %)

, Ab € 7 2 8(20) o

™ = (g 30,000 | 80,000~ | 50,000~ | 70,000 2 g(bj:' ;;é

otz o] gk 49,999 69,999 otz|of &t (b)

o & (A 20,462 20,882 18,913 19,914 20,429 20,021 -2.2
- A Eoj 20,167 20,364 18,682 19,704 20,173 19,767 -2.0
- RiErd 7 " 2 2 3 3 -57.1
- 7|Ef ¢ 288 507 229 208 253 251 -12.8
o dtH|(B) 17,789 19,436 18,578 18,145 19,063 18,769 55
o At=H|(C) 18,662 21,319 19,720 19,151 19,640 19,639 52
o & 5 (A-B) 2,673 1,446 335 1,769 1,366 1,252 -53.2
o & 7 2 (AQ) 1,800 -437 -807 763 789 382 -78.8
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